Foundation

BE THE NEXT GENIUS

Hindi Class 9 Sample Questions:

English:

1.He seems to know a lot about you! How long have you him?
(A) known (B) knew (C) been knowing (D) know

2.Change the given direct sentence to indirect.

“Drive carefully!” Shyam said to me.

(A) Ram said to me drive carefully. (B) Ram ordered me drive carefully.
(C) Ram told me to drive carefully. (D) None of these

3.The old man crossed the road
(A) coldly

(B) carefully

(C) urgently

(D) fluently

4.Choose the correct option to complete the dialogue.

Teacher to student : | thought you had been doing your homework regularly. Why are
you still so irregular with your work?

(A) I will let your parents know that you have failed this year.
(B) I'm afraid, at this rate, I'll have to give you a ‘D’ grade.
(C) I'm expecting you to earn a ‘D’ grade.

(D) I think you will do well this year.



5.Select the part of the sentence which has an error in it. If the sentence is correct,
select "No Error":

(A) I have tried (B) to meet him several times; (C)he isn't never at home. (D) No ERROR

0T 3 ANTIT:

6. QU AT deA I QU L. 9, 14,24, 39, (?)

(A) 44 (B) 49 (C) 54 (D) 59

7781 e@U 1T TelsT & ToIU, £ x o1 #eT F41 572
(A) 53°

(B) 137°

(C) 85°

(D) 105°

8.J p(y) = y3 +y2 + 2y + 3@y + 2 ¥ Ao Toham ST df AYHS ATT HITAT.
(A) 1 (B)4 (C)-5 (D)3

9.F81a hr T fare |
(A)3
(B) 4
(C)5
(D)6

10. FHCIFS TSI T &TThel JATcT HITTT 6
(A)28
(B)38
(C)26
(D)13

11.9g 9iohaT [ordsh ¢aRT A &aT ¥ Taffet A gred T Fhd & gl
ST UTehdT H, §H 3Te19T-37cl3T dT9HT U §aT &l 39 iad i g
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(B)31TTRIh 3 HasT
(OSEEEIGIRE]

(D) AT TAd T

12.28 TohaIT GEIATS dTel Teh UTe] & FiTel T SATH 14 Tohall Ged#TeT aTel GER Mol o THAE g |
21t TS U eTaR & Teh T FRTT S E1 o9 3 o & 5 e FW A &, A 3w
AT gl 8| (AT TTeRIEr T 3BT )

NEIGEES (B)THIfAT ST  (C)FAIT (D) cavor

13.Fegeh HIAST T gl Ifafaferar & g sxar § 3R dvae aeeh 3R 9ds
AT T TAATUT-FUTT & & H 1 AT § | I¢ $O TChi F 7T ¢ St Faft Tt =ATidieh
T SHPT HIIGTHAT YETeT I ¢ wmwwﬁ?mw%mmmaﬁ
A, B, C 31X D & &9 & orael T 91T ¥ | ST 3179 37 Eeht ohT TET A3 Sl Tk &2

(A) A -~gfFerdd; B-H#AfRH; C- WA Beell; D - ~gfFeldicalod
(B) A - 7giFardd; B-HIAfA; C- A Feell; D-= ?-It\clfﬁéﬂboilo-d-l
(C) A - ~g[Ferdlerd; B - AT, C - WA Beell; D - 7 [FelITelloA
(D) A - 7g[Ferierd; B - HIARH; C - WA] BYeell; D - WA far”

?
(a

14,579 1S U3 Taca §9 & g2t &1 3R TR 8, A 38R ool Foll gl &
(A) Te STl &

(B) SedT&

(C) Ugel gdT & 3R R geary

(D) P g g



15. $-IPS Ueh sl T dTell Eafel § ST HTIRT IoT & 20 §Eof A A ¢ SHTAT, 38 dhalel
€rsﬂﬁﬁsﬂa’é‘rw3ﬁTscH|o1d FT ohd %a’rzo g&ol U A TG o7 & Tl Hagaaeher
¥ R # & Fi AT SR A 3Ty &1 YA AT 872

(A) T (B) THMES (C) 3= (D) Feps

ATATT SR A AT U AT AT
16.5h TG STRTS & fohdd TATeA W g1 IR cll 67

(A) 3RATST (B) aER (C)aISTAT (D)FIREE

17 FTerAT T Rl & 3R H‘é’r [EEZZ GG

ot | carcedl

(A) a¥ 1919 (i) ST T AL TGR TS I ITEJETAT H hrdT 7
AT g3 |

(B) a¥ 1942 (ii) FRET AT FHT SaRT 379=T1IT a1

(C) a¥ 1931 (i) TR BIST HTerelel

(D) aY 1949 (iv) IRd THR AfAfaTa

(A) (@)~(ii), (b)-(iv), (c)~(i), (d)-(iii) (B) (@)-(iv), (b)~(iii), (c)-(i), (d)-(ii)

(C) (a)-(iii), (b)-(i), (c)~(iv), (d)~(ii) (D) (a)-(i), (b)~(ii), (c)~(iv), (d)-(ii)

18. W 1R # Yed Aeash &7 doit & faEar g3
(A) 1820 & G2
(B) 1830 & &2
(C) 1850 o &2
(D) 1860 o 2

19.FFAfT@a 7 O T IRT & IA-GRTAT AT H AT & SRTeT IuT T FROT FAdT 272

(A) TehdTdl 31aHTG

(B) AT T ST 7 AN Agharistan
(C) ufXaaT faeitsr
(D) &f&ToT ufRes ATgeT



209871 FA g AVET gl HRAT Tl H3) 97 91T § fSee wirad aseufa
SaRT W & Fafed AR 3R A TFAT, 5 i 31T & alloted 1 e T FFATTI
foraT T &

(A)FTY Gelsh (B faseT

(C) SHTT HshleT (D)USTeIT Hehel

Il
21.311HT3TR T AT FAT &7
(A) 3fTTCcahel hige T

(B) 3iTTeeeher higel RepfaTera

(C) 3TaeAeT ShigeX T

(D) shael IRT ara

22 AT F ga TS 3YATT R ST arell T Sole el
(T)3eTel (B)amg (C)aTag (D)=TH & FIg LT
23 . TAFATATET Sl ggaret |

-Ig HY & 3 TCHI o [T Hald ATFeT dF & & H SR T §
-5 HYOT FYX R T gaueT 3R GHAaT FAT &

Ig AT AAN H FIALT WaIH § LT ured e 8, &t #hr sarear siar g AR @aerer
Eﬁm%sﬁmﬁrarq SHISAT ol Jog [ASUTTCT el o folT IR FIAT B

(A) TTerg (B) AARY IS (C) el Jfoc (D)



Answers:
1A 2C 3B 4B 55C 6D 7D 8C 9.C 10A 11B 12D
13.C 14D 15C 16.A 17B 18D 19.C 20.C 21.B 22.C 23.C



